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INSTRUCTIONS TO CANDIDATES

Before opening the seal of the Question Booklet check
whether the Paper Code printed on it is matching with the
Paper Code printed on the Hall Ticket with the respective
session. Ifit is not matching, immediately bring to the notice
of the invigilator and obtain the Question Booklet with

correct Paper Code.

Please check the Question Booklet immediately on opening
and ensure that it contains all the 150 multiple choice

questions printed on it.

Carefully note the Question Booklet No.

Separate Optical Mark Reader (OMR) Answer Sheet is
supplied to you. The OMR Answer sheet contains boxes
for filling Hall Ticket Number, Question Booklet Number,
Paper Code, Signature of the Candidate and Invigilator. Fill
the boxes with Blue/Black ball point pen only.

If there is any defect in the Question Paper Booklet or OMR
answer sheet, please ask the invigilator for replacement
immediately.

Since the answer sheets are to be"scanned (valued) with
Optical Mark Scanner system, the andidates have to USE
BALL POINT PEN (BLUE/BLACK) ONLY for darkening
the circles in the OMR Sheet including bubbling the answers.
Bubbling with Pencil / Ink Pen /Gel Pen is not permitted in
the examination®If any mistake is done by you on the OMR
sheet, it willnot be replaced.

The Question Booklet number is printed on right corner of the
cover page of the Test Booklet. Mark your Question Booklet
number on side 1 of the OMR Answer Sheet by darkening
the appropriate circles with Blue/Black ball point pen.
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Example to fill up the Question Booklet number.
If your Question Booklet number is 102365, please fill as shown

below :
Question Booklet Noe.
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If you have not darkened the Question Booklet number at
side 1 of the OMR Answer Sheet your Answer Sheet will be
invalidated without any further notice. If it is darkened in a way
that it leads to discrepancy in determining the exact Question
Booklet number, then it may lead to wrong result / rejection
of the Answer Sheet and candidate himself / herself will be
responsible for the same.

Each question is followed by 4 answer choices. Of these, you -

have to select one correct answer and mark it on the Answer
sheet by darkening the appropriate circle for the question. If
more than one circle is darkened, that answer will not be valued
at all. Use Blue/Black Ball point pen to fill the circle completely.
Make no other stray marks.

e.g. : If the answer for Question No. 1 is Answer choice (2), it
should be marked as follows :

O 1IOXO

Mark your Hall Ticket No. as given in the Hall Ticket with
Blue/Black Ball point pen by darkening appropriate circles in
side 1 of the OMR Answer Sheet. Incorrect/ not.encoding of

- Hall Ticket no. will lead to invalidation of your Answer Sheet

and also will lead to rejection of your candidature without any

further notice.
Example : If the Hall Ticket No. i§ 1309102001, fill as shown

below :
Hall Ticket Number
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10. Get the signature of the Invigilator affixed in the space provided

in the answer sheet. Candidate should sign in the space provided
in the OMR Answer Sheet.
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11.

17.

18.

19.

Rough work should be done only in the space provided for that
purpose in the Question Paper Booklet. No other loose sheet of paper
will be allowed into the Examination Hall except Hall Ticket.

. Do not mark answer choices on the Question Booklet. Violation

of this will be viewed seriously.

. Incase of any discrepancy between English and Telugu Version

of the questions (in Bilingual Paper), English Version of the
question shall be treated as final.

Use of Calculators, Mathematical Tables, Log Books,
Pagers. Cell Phones or any other electronic gadgets is strictly
prohibited.

The candidate should write the Booklet number and Sign in
the space provided in the Nominal Rolls while ensuring_ the
Bio-data printed against his/ her name is correct.

No candidate should leave the examination hall until completion
of examination time.

Before leaving the examination hall, the candidate should hand
over the OMR Answer Sheet to the Invigilator, failing which
action will be taken for malpractice.

Candidates are permitted to take away the Question Paper with
them after completion of the exam.

The OMR Answer Sheet will be invalidated, if the candidate :

i. writes the Hall Ticket No. in any other place of OMR sheet,
except in the space provided for the purpose.

ii. writes irrelevant matter, including the religious symbols,
words, prayers or any communication whatsoever, in any
place of the OMR answer sheet.

iii. uses other than Blue/ Black ball point pen.to darken the
circles.

iv. forgets to bubble the Question Booklet number or bubble
multiple circles in a row while filling the Question Booklet
No. or bubble Hall Ticket No. other than allotted to him/
her.

v. resorts to wrong/erroneous/ificomplete bubbling of circles
or using v or X in the circles.

vi. uses whitener on the.answer sheet.

vii. attempts any type of tampering (rubbing the circles with
chalk powder/ scratching the circles with razors etc.) on
the OMR Answer Sheet. '

viil. adopts'any method of malpractice.

20. No correspondence will be entertained in this matter by the

commission, if the Answer Sheet is invalidated or his / her
candidature is rejected due to the above reasons.

. The digital copy of OMR Answer Sheets will be made available in

the Commission’s website after completion of the Image Scanning.
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1.

Which one among the following bulbs
consumes less power for light of same
intensity ?

(1) Light Emitting Diode (LED) bulb

) F luorescent tube bulb

(3) Incandescent bulb

(4) CFL tube bulb

Which decade is declared as the United

Nation’s Decade of Ecosystem Restoration ?

(1) 2022 -2031

(2) 2020-2029

(3) 2019 —-2028

(4) 2021 -2030
f49@7=7,9#2=18,6% 2 =8 and
16 & 6 = 10, then what is the value of
6&3#13(18@9) ?

1 -5

@ 5

EGE
e e
=

4) 15

Who is the Director General of World Health
Organisation (WHO) as of December 2022 ?

(1)~Tedros Adhanom Ghebreyesus
(2) Kristalina Georgieva

(3) Amina C. Mohammad

(4) Margaret Chan
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5.

The following pie-chart shows the cost
estimated by a family in renovation of their
house. If total estimated costis Rs. 11,25,500,
what is the cost estimated on Painting and
Flooring together? ( in Rupees)

Estimated cost for Renovation

Interior Decoration,
19%

Architect's Fees,

Grills & Windows,
10%

Curtain & Cushions,

Furniture, 13% Flooring, 14%

E (2) 3,24,495
(4) 3,26,395

(1) 3,25,395

=
(3) 3,26,495 =

Agreement on the Maintenance of Peace and
Tranquility along the Line of Actual Control
(LAC) on the India-China Border was signed
with China during which of the following
Prime Minister’s visit to China ? '

(1) Prime Minister Nehru’s visit in
October 1954

(2) Prime Minister Narasimha'Rao’s visit
in 1993

(3) Prime Minister Atal'Bihari Vajpayee’s
visit in 2003

(4) Prime Minister Rajiv Gandhi’s visit in
1988

Which of the following is NOT a textile park
in Telangana ?

(1) Malkapur Textile Park, Choutuppal
(2) Ankapur Textile Park, Armoor

(3) Textile Park, Sircilla B
(4) Mega Textile Park, Warangal =

22160
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8.

10.

11.

Which of the following periods is referred
as the south-western monsoon for the Indian
subcontinent ?

(1) May to September
(2) June to November s
(3) September to December
(4) June to September

Which of the following is NOT a millet ?
(1) Jowar

(2) Ragi

(3) Rye

(4) Bajra

Which of the following districts in Telangana
has the highest percentage share of forest
area to the district’s total geographical area as
per the ‘Telangana Socio Economic Outlook
2022’ of Government of Telangana ?

(1) Nagarkurnool

(2) Kumuram Bheem EE

(3 Bhadradri Kothagudem o

(4) Mulugu

Which one of the following is NOT matched
correctly with regard to theIndia-Pakistan wars

and Indian Prime Ministers of the time ?

(1) India-PakiStan _: Jawaharlal Nehru
war 1947

(2) India-Pakistan : Morarji Desai
war 1971

(3) Kargil . Atal Bihari Vajpayee
war 1999

(4) India-Pakistan : Lal Bahadur Shastri
war 1965

8.

10.

11.
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12. Read the following statements about the
“‘National Science Day’ (NSD) 2022 :
A. National Science Day was organised on
February 28, 2022.

B. The theme of the National Science Day
2022 was ‘The Women in Science’.

Choose the correct statement(s) :

(1) Aonly EE
EI%

(2) BothA& B

(3) Neither A nor B

(4) B only

13. What is ‘bombogenesis’ ?

A. Bombogenesis is a storm (low
pressure area) that undergoes rapid
strengthening.

B. The vast majority of such storms occur
over the ocean.

C. The storm can be tropical or non-
tropical in nature.

Choose the correct answer :
(1) A only 2) A,B&C
(3) B&Conly (4) A&Bonly

14. Which one of the following is not an iron ore
producing mine ?

(1) Jajang
(3) Noamundi

(%) Balda
(4) Majhgawan

15. Find the next term in thefollowing series.
117, 389, 525, 593, 627, 2
(1) 654 @ 634 FiaH
(3) 644 4) 640 @

16. During World War II, American bombing
on the Japanese cities of Hiroshima and
Nagasaki in 1945 marked the first use of
atomic weapons in war. In which month, two
bombings were taken place ?

(1) July (2) September
(3) October (4) August

22160
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18.

19.

The following table presents the percep, oe
of profits of two companies ABC and PQR in
the same product line. What is the differep, e
between the average percentages of progis
of the Company ABC and COmpany PQR
for all the years ?

Percentage of profits of ABC apqg

companies POR

Year | Company ABC %
20151 60 @

2016 | 55 B
2017 50 T .
2018 42 R
2019 55 R
2020 58 5
2021 0 | 35
(1) 2.93 2) 286
(3) 2.83 4) 2.82

Which of the following crops are begt suited
for rainfed agriculture ?
C. Paddy

e
=
D. Pearl millet

Choose the correct answer :
(1) A& Bonly 2) B&Conly
(3) B& D only (4) A& Conly

A, Sugarcane
B. Sorghum

In a survey conducted afong.2,500 mop;je
phone using families, ‘it-Was found t},¢
1,400 use Motorola,,200 use One plyg 5,4
1,430 use Samsung#950 uses both Motoq 14
and One plus, 850 use both One plyg 5.4
Samsung ‘and 930 use both Motoroly ;.4
Samsung. 700 families use mobile phopeg of
allthe three companies. How many famjjjes
use mobile phones of only Samsung 9

(1) 500 2) 100 Em
3) 1,430

(4 350 [y

17.

18.

19.
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20.

21.

22.

Which of the following is commonly used
for disinfecting well water ?

(1) Calcium chloro hypochlorite
L %Eli-
=

Match the following wildlife sanctuaries/
tiger reserves with their respective districts
on the basis of their location :

(2) Potassium chromate
(3) Sodium chloride

(4) Potassium permanganate

Wildlife Sanctuaries/  District
Tiger Reserves
A. Amrabad 1. Bhadradri
Kothagudem
B. Kinnerasani 2. Mulugu
C. Pakhal 3. Nagarkurnool
4. Warangal

Choose the correct answer :
(1) A-3;B-2;C-1 (2) A-3;:B-1: C4
(3) A-2;B-3;C-4 (4) A-4;B-1;C-2

Match the following institutions
with their administrative heads as on
15t January 2023:

Institution Name of-the
Chairperson/
DG/ CEO

A. Central Board 17" Dinkar
of Direct Gupta
Taxes (CBDT)

B. National 2. Nitin ‘.}%‘%
Investigation Gupta [E
Agency (NIA)

C. NITLAayog 3. Parameswaran

Iyer
4. Shri Suman
Bery

Choose the correct pairs :
(1) A-3;B-1;C-4  (2) A-1;B-2;C-3
(3) A-2:B-3;C-4 (4 A-2;B-1;C-3

22160

20. 5 808 e3S° DO JeorSeron e DedD

21.

22.
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B. 3539 E'%% 2. Sooeld
C. orz® 3. 3"1"5 §Ci5°&e5
4. 3501
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(1)A-3;B-2;C-1
(B))A-2 ; B-3; C-4

@) A-3;B-1;C4
() A-4;B-1;C22

308 Sogesso 1 25050 2023 o0e38 Teed SOTPoT
BB wESE50G ;
so 2E55,%/DG/
CEO %
A. 208 &°8 1. &85 1o
o5 @k
32y (CBDT)
B. 3036 gRgnae 2. DS Ko
22y (NIA)
C. & es@rh 3. DRSS
eaigd
4. B 08 30
8% a3ttt Dol :

(1) A-3;B-1;C-4 (2) A-1;B-2;C-3
(3) A-2;B-3;C-4 A-2;B-1;C-3
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23.

24.

25.

26.

27.

If 19t January 2023 falls on Thursday, what
will be the week day on 06 July 2024 ?

(1) Monday (2) Friday

(3) Saturday (4) Wednesday

Which forest produce is used to roll beedies

in Telangana ?
= glﬂi
E

(1) Russagaddi
(3) Tunikaku

India assumed the G-20 Presidency recently.
Consider the following in relation to it :

A. The group does not have a permanent
secretariat. The Presidency is supported
by the Troika - previous, current and
incoming Presidency.

During India’s Presidency, the troika
will comprise Indonesia, India and
Argentina, respectively.

(2) Mahuva
(4) Vederu

Choose the correct answer :
(1) Aonly

(2) BothA&B

(3) Neither Anor B

(4) B only

Which of the following are the sources of
irrigation in India ?

A; Canals

B. Tanks

C. Tube wells

D. Wells

Choose the correct answer :

(1) C & D.only
.EI,%EE.
=]

(2) A, B&Conly
(3)»A & B only
4 .A,B,C&D

In which year, the East India Company
Government introduced English as the
medium of instruction ?

(1) 1835 (2) 1817

(3) 1853 (4) 1800

10
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28.

29.

30.

31

In which one of the following undivided
districts of Telangana, Gondwana coal fields
are found ?

(1) Adilabad district

(2) Mahabubnagar district

(3) Medak district

(4) Rangareddy district

The National Highway Authority of India
(NHAI) constructed a highway stretch of
about 75 kms in 105 hours and 33 minutes
in June 2022 and entered the Guinness
World Record. The highway stretch passes
through :

(1) Vijayanagaram & Srikakulam @45
(2) Bengaluru & Mysore %
(3) Amaravati & Akola

(€A Thiruvananthapuram & Kanyakumari
The following has/have developed a new
artificial light-harvesting system that can
efficiently capture light for power conversion
by mimicking photosynthesis, the process by
which plants absorb sunlight and produce
sugars :

(1) IISER-Thiruvananthapuram and IIT-

Indore

(2) 1ISc Bengaluru and University of
Hyderabad

(3) National Botanical Research Institute
(NBRI), Lucknow

(4) CCMB, Hyderabad

PM Gati, Shakti National Master Plan
(PMGS-NMP), which was launched in

October 2021, is meant for :
® Agriculture sector
o
=

(2) Infrastructure sector
(3) Exports

(4) Industries sector

28.

29.

30¢

31.

11
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32.

33.

34.

35.

36.

A man pointed to a lady in the photograph
and says, “that lady is my son’s sister’s
maternal uncle’s only sister.” How is the lady
in the photograph related to the man ?

(1) Mother

(2) Wife EE
(?) Sister-in-law =
4) Cousin

Who among the following considered as
the political mentor of Gandhiji ?

(1) Khan Abdul Gafar Khan

(2) Mahadev Govind Ranade
(3) Rabindranath Tagore

(4) Gopala Krishna Gokhale

The Panchayat (Extension to Scheduled
Areas) Act (PESA), 1996 extended the
provisions of panchayats to the tribal areas
of nine states that have Fifth Schedule Areas.
Which one of the following states does NOT
come under Fifth Schedule Areas ?

(1) Andhra Pradesh (2) Gujarat
(3) Karnataka (4{ Madhya Pradesh

In a certain code language,-‘1234” means “go
for morning walk”, <1567 means “ search
for good news” and 653 means * morning
news search.” Which.digit in that language

means “morning”?
-‘.%
=

(1 >3

(e 4

Which one of the following devices is used
for storing the electrical charges in our TV
set, radio set and computer ?

Q) 2
4 3

(1) Electrical conductor
(2) Electrical capacitor
(3) Electrical resistor
(4) Electrical inductor

12
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37.

38.

39.

Read the following pairs relating to Indian
population for the year 2020/2021 as
indicated by the World Bank (Data) :

A. Life expectancy at birth in India in 2020:
Around 70 years

B. Total population in India in 2021:

139 crores
=

Choose the correct pair(s):
(1) Aonly

(2) BothA& B

(3) Neither A nor B

(4) B only

At what time between 3 and 4 o’clock, both

the hands of a clock coincides each other ?

(D 16—151 min. past 3

162 mi t3
2) T pas
8 .
3 16ﬁ min. past 3

4
4) 16ﬁ min. past 3

Arrange the underméntioned Governor
Generals in the chronological order :

A. Lord Hastings

B. Lord Wellesley

C. Lgrd Cornwallis

D. Tord Dalhousie
Choose the correct answer !

(1) B,C,A,D
(2) C,A,B,D ESE
3) C,B,A.D JEI%’E
4) A,C,B,D

13
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40.

4].

42.

43,

44,

Coringa wildlife sanctuary was declared as

an Eco-Sensitive Zone (ESZ) in September

2021 by whom ?

(1) National Green Tribunal

(2) The National Board for Wildlife
(NBWL)

(3) World Wildlife Fund (WWF)

(49 The Ministry of Environment, Forest and
Climate Change, Govt. of India

Among five persons A, E, I, Jand V, each are
having different weights. E is heavier than
only I. A is heavier than E and V, but not as
heavy as J. Who among them is 3" heaviest ?

QI g%% 2) V
=

3) 1 @ A

Which one of the following states celebrated
Golden Jubilee Celebrations commemorating
the 50 years of its existence on 215 January
20227

(1) Assam

(3) Meghalaya

(2) Haryana
4) Goa

Which Satavahana King made Samnskrit as
official language in place of Prakrit ?

(1) Satakarni -1 (2) Satakarni — II
(3) Pulamavi—1I (4) Srimukudu

The ISRO ‘conducts 200t consecutive
successful launch of RH200 sounding rocket

from™

(1) “Srihari Kota, Andhra Pradesh

(2) Space Applications Centre, I_;_ﬂ%
Ahmedabad =]

(3) Thumba, Thiruvananthapuram

(4) North Eastern Space Applications

Centre, Umiam, Meghalaya
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45.

46.

47.

48.

49.

‘Udyogula Garjana’/Telangana
Employees Meeting took place on

215t October 2009 at :
&
=

(1) Karimnagar

(7\) Nizam College Grounds

(3) Siddipet

(4) Nalgonda

Where the National Investment and
Manufacturing Zone (NIMZ) is located in
Telangana ?

(1) Zaheerabad
(3) Karimnagar

(2) Siddipet
(4) Tandur

The Union Cabinet approved a World Bank
assisted programme in March 2022 on
‘RAMP’ which would commence in the
financial year 2022-23. It is meant for :

(1) Marine science and technology

(2) Mega projects

(3) MSMEs

(/J?) Medical and health

‘Prakriti’ mascotto was launched.in April
2022 to spread greater awareness among
masses about :

(\) CoVviD - 19

() Plastic pollution

(3) Sex ratio forgender equality
(4) Human rights

The €entral Government appointed the
foltowing Commission on union-state
relations in 1983:

(1) Srikrishna Commission

(2) Sarkaria Commission EEE
(3Q Ashok Mehta Commission  J5ers
(4) Rajamannar Commission
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51.

52.

53.

54.

Who was the first woman President of
Indian National Congress ?

(1) Sarojini Naidu

(2) Raj Kumari Amrit Kaur
(3) Annie Besant

(4) Sucheta Kriplani

What is the structure of Deoxyribonucleic
Acid (DNA) ?

(1) Circular helix

(2) Double helix

(3) Triple helix

(4, Single helix

The Royal Emblem of the Kakatiyas was :
(1) Bull

(2) Horse

(3) Boar

(4) Cow

Where did the UN Framework Convention
on Climate Change (UNFCCC COP:27)
take place ?

(1) Bali, Indonesia

() Versailles, France

(3) Sharm el-Sheikh, Egypt

(4) Johannesburg, South Africa

As per RBI, medium+term loans & advances
are usually-for a period ranging from :

(1). Above 5 years and up to 10 years

() Above 2 years and up to 5 years

(3) Above 1 year and up to 3 years

(4) Above 3 years and up to 5 years
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55. Which of the following is NOT correct ?

(1') Central Home Minister introduced
Telangana Bill in Lok Sabha on
14t February 2014.

(2) The President approved and signed the
Telangana Bill on 15t March 2014.

(3) On June 2nd 2014, Telangana emerged
as the 291 state in India.

(4) Lok Sabha approved the Telangana
Bill on 18 February 2014.

56. Which of the following crops has the
majority of cultivated area occupied by the
plants developed through tissue culture in

India ?
(1) Banana 330 (2) Guava
(3,) Mango [ (4) Paddy

57. Consider the following in relation to the
Himalayan Mountains:

A. Himalayas are structurally dome
mountains.

B. Himalayas present the loftiest and one
of the most rugged mountain barriers,of
the world.

C. Himalayas cover the distance of about
2,400 kms.

D. The ‘Himadri’ range contains all the
prominent Himalayan peaks.

Select the correct answer' :

(1) A, B & C only
.Elﬂ%ﬂ?
=

(3 B,C&D only
3) A,B,C&D
(4) A& D only
58. In a certain coding method, the word
ENGLISH is coded as SLEHING what is
the code for the word CHEMIST ?
() SMTCIHE (2) SMCTIHE
(3) SCTMIEH (4) SMCTIEH
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59. Which among the following developed an
Overhauser Magnetometer, extensively used

60. Match the following parks/sanctuaries/tiger

61.

around the world ?

(1) National Remote Sensing Agency
(NRSA)

(2) The Indian Institute of Geomagnetism

(IIG)

(3) National Geophysical Research Institute

(NGRI)

(4) National Physical Laboratory (NPL)

reserves with their locations :

Place Park/Sanctuary/
Tiger Reserve
A. Siwaram 1. Deer Park
B. Alisagar 2. National Park

C. Kasu Brahmananda 3. Tiger Reserve

Reddy Park
4. Wild Life

o ngﬂi. o
' anctua
& Ly

Choose the correct pairs :
(1) A-4;B-2;C-3
(2) A-2;B-1;C-3
(3) A-4;B-1;C-2
(4) A-3;B4;C-2

The term “Ari’ referred to during the
Kakatiya period was :
(1) Land tax/revenue
(2) Tax on gift

(3) Tax on salt &

(4 Tax on merchants
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59. (B%0% FgRo PEPSor endATiod £56
eb SIRETAeb8 3od T3S D vy
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(4) 35S 9RES ore5i0ead (NPL)
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(4) A-3;B-4;C-2
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62. Match the following princely states with

their rulers/dynasties :

Princely State Ruler [E{5E
A. Nagpur 1. Holkars ‘I'_;]%
B. Calicut 2. Scindias

C. Indore 3. Zamorin

D. Gwalior 4. Bhonsies

Choose the correct answer :
(1) A-4;B-3;C-1;D-2
(2) A-3;B-1;C-4;D-2
(3) A-4;B-1;C-2;D-3
(4) A-1;B-3; C-2; D-4

Power to remove the Vice-President from
the office is vested with the :

g/ﬂ’rime Minister

(2) President

(3) Parliament

63.

(4) Legislative assemblies of the state

64. In 2017, the Government of Telangana

established medical device park in one
of the following places near Hyderabad.
Where is it ?

(1) Kothur

(2,) Sultanpur

(3) Banda Mailaram
(4) Maheshwaram

65. The.G-20 Summit 2023 will be hosted by

which country ?
(1) Brazil

(2) Indonesia
(3) Saudi Arabia
(4) India

E{5E
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& 808 EBTos e5E 28ES EE O
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66. Match the following ‘jataras’ with their
respective districts :

Jatara Districts

A. Yedupayala Jatara 1. Warangal

B. Tulja Bhavani Jatara 2. Mahabubnagar
C. Mannemkonda Jatara 3. Medak

D. Ayinavolu Jatara 4. Nalgonda
Choose the correct answer :

(1) A-1;B-2; C-3; D-4

(2) A-3;B-4;C-1;D-2  [E{iE

(3) A-3;B-4;C-2;D-1 [=

(4) A-2;B-3; C-4; D-1

67. Who among the following popular singers |-

belonged to Telangana ?

A. Gaddar

B. Vangapandu

C. Vimalakka

D. Nissar

Choose the correct answer :
(1) A& B only

() A,C&Donly

3) A,B,C&D

(4) C&Donly

68. Which of the following is NOT a part of
the peripheral nervous system ?

(1) Neuron (2) Nerves
(3) Nephron (4) Ganglia

69.¢National Rural Employment Guarantee
Scheme (NREGS) was renamed after
(1) Mahatma Gandhi
(2) Dr. B.R. Ambedkar
(3) Atal Bihari Vajpayee
(4) Indira Gandhi
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B. o gl et 2. Soirerd

316
C. odcForeress 3. ek
D. wonsSen erss 4. SFol

BB STy JoisSod.
=

(1) A-1;B-2; C-3; D-4
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(@) A-3; B-4{C-2; D-1
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70. Consider the following statements :

71.-

A. President shall have the power to
legislate by Ordinances at a time when
it is not possible to have a Parliamentary
enactment on the subject, immediately.

B. An Ordinance can exist at the most only
for four weeks from the re-assembly of
the Parliament.

Choose the correct answer :
(1) Aonly (2) BothA& B

(:Q Neither Anor B (4) Bonly

The Disability-Adjusted Life Years (QALY’s)

- rate is mainly attributed to one of the

72.

73.

following :

(1) Air pollution

(2 Sound/Noise pollution
(3) Water pollution El3IE
(4) Soil pollution =

Who was the first Martyr in 1969 Jai
Telangana Movement ?
(1) Shankar (2) Ravinder Reddy

(3) Ailaiah (4) Lalitha

Match the following Nizams with the
important events during their reign™
Name Event
A. Nasir-ud-daula 1. Subsidiary
Alliance
B. Nizam Ali Khan 2. Establishment
of Russel Brigade/

Contingent force
3. Sepoy Revolt

4. Wahabi
Movement

C. Afzal-ud-daula
D. Sikandar Jah

Choose the correct answer :
(1) A4, B-1; C-3; D-2

(2) A-1;B-3;C-4;D-2 E‘%‘g
(3) A-2;B-4;,C:3;D-1 @

(4) A-3;B-1,C-2; D-4
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70. B 3B 550 S0KedoSos.

A. 25 @080 0 FTRooed o Jobiko
6350 SN B00HoE” esPBRL T°g0° T
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(3) Ded e
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(4) 09
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A. Tb-6b-Tor 1. DI S5sS
250G
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0edB0eS Py Jovyen
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BOOMHeTE

D. %0t e 4. 559 eatsgioo

KB5S 37Ty dowEod :
A-4; B-1; C-3; D-2
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74

~1
(V)]

76.

77.

78.

. What is the quorum to constitute a meeting

of Lok Sabha ?

(1) Half of the total members of the House

(2) One-fifth of the total members of the
House

(3) One-tenth of the total members of the
House

(4) A quarter of the total members of the
House

Where did the third species of branching

syllid worm was found ?

(1) Australia (2) Japan %

(3) Philippines (4) China C

What is Net Domestic Product (NDP) ?

(1) Net National Product (NNP) plus
depreciation

(2) Gross Domestic Product (GDP) minus
depreciation

(3) Gross Domestic Product (GDP) minus
subsidies plus indirect taxes

(4) Gross National Product (GNP) minus
depreciation

What is the value of the following ify+ is
changed to x, — is changed to =, xiis changed

to —and + is changed to + 2
18 +24 -5 %336+ 153
[

(1) 96.6 (2)"296.6
(3) -98.3 (4) 111.43

In computers RAM stands for
(1) Random Access Memory
(2) Read & Activate Memory
(3) Remember All Memory

(4) Rapid Access Memory
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74. &% 583 55550 oy Basver08 S0 dods
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(1) 38587 3ooiso Re058° difo S0
(2) 385" 20080 380506° w03 So
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() 3z0 383G (GDP) soods SANEY
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(4) 3y =80 &858 (GNP) srod
BSOS HBIaT 330
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18 +24 - 5x336+153

(1) 96.6 @ -9.6
(3) - 98.3 (4) 111.43
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79.

80.

81.

Which of the following Acts introduced
the system of direct recruitment to the

Indian Civil Service (ICS) through

competitive examinations ? ESE
e

(1) Charter Act of 1813
(2) Charter Act of 1853

(3‘} Government of India Act 1858
(4) Charter Act of 1833

Who among the following participated in
the throwing a bomb on Nizam Mir Osman
Ali Khan on 4t December 1947 along with

Narayan Rao Pawar ?

A. Konda Laxman Bapuji
B. Gandaiah

C. T. Ramaswami

D. Jagadeeshwar

Choose the correct answer :
(1) A,B&Donly

(2) A,C&Donly

() A& Conly

(4) B&D only

The biggest of'all the four subas in the

former Hyderabad State was :
(1) Warangal Suba

(2) Medak Suba

(3) Gulbarga Suba @]

(4) Aurangabad Suba
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79. ed 3850 oo F0GAHS 226 565 (ICS) &

80.

81.

G3E BETeSo0es Irardy o8 38 D Bexo
ool 9

(1) g5 1813 e
=
(3) &P (e S6o 1858

(4) =5 St 1833

TOPODHED O°) SorES ¥ 1947 &ob 4 5
Rezo Q6 &S DR eroemd B 065’
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C. &. oo
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82. Read the following pairs about International

Day of Education :

A. International Day of Education :
January 24

B. Theme for 2022 : Recover and
Revitalize Education for the COVID -19
Generation

Choose the correct pair(s) : A

(1) Aonly

(2) BothA & B

(39 Neither A nor B

(4) Bonly

83. Which one of the following political parties
1s NOT matched correctly with its electoral
symbol ?

(1) Bharatiya Janata Party : Lotus

(2) Communist Party of India : Hammer,
Sickle & Star

(3) National Congress Party : Clock

(4) All India Trinamool Congress :
Flowers & Grass

84. Which one of the following is NOT the

salient feature of the TS-iPASS, 2014 ?

(1) Empowering the entrepreneurs with
right to clearance

(29 All departments Connected for
[E¥5E establishingiand operation of an

& enterprise brought under purview of
TS-iPASS

(3) JAssisting the entrepreneurs for proper
submission of applications to avoid
delay

(4) Time limits set for each approval
varying from 2 days to a maximum of
60 days

24

22160
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85. Arrange the following in chronological
order :
A. Boycott of Simon Commission L
B. Jallianwala Bagh Massacre =
C. Surat Split in the Congress Party
D. Non-Cooperation Movement
Choose the correct answer :
(1) A,B,C,D 2) D,C,B,A
3) C,B,A,D 4) C,B,D,A

86. In which year Urdu was made as the
official language of the Nizam’s State ?

(1) 1873 A.D. (2) 1880 A.D.
(3) 1884 A.D. (4) 1875A.D.

87. Who among the following preached the
doctrine of ‘one caste, one religion and one

god’ ? ESE
(1) RajaRam Mohan Roy  ¥%&&5s
(2) Sri Narayana Guru =
(3) Shirdi Saibaba

(4 Ramaswami Naicker

88. The local wind which is hot, dry and dusty,
that blows in the Indo-Gangetic plains during
summer is :

(1) Norwester

(29 Loo
(3) Kalabaisakhi

(4) Mango shower

89. Steam causes more harm to human body
than the boiling waterin case of burn. This
is because:

(1) Steam is“at higher temperature than
boiling water.

(2) Steam penetrates more into human body
than boiling water.

(3p Steam transfers more heat energy to the
human body than the boiling water.

(4) Steam is at higher pressure than boiling
water.
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90.

91.

92.

In the question below are given two statements
followed by two conclusions number I and
II. You have to assume everything in the
statements to be true even if they seem to
be at variance from commonly known facts
and then decide which of the four given
conclusions logically follows from the
statements disregarding commonly known
facts and select the appropriate answer.

Statements :
Some goats are books. [El43[=]
All books are chairs. =

Conclusions :

I. Some books are chairs
II. Some chairs are goats
(1) Only I follows
(2) BothI and II follow
(3) Neither I nor II follow
(4) Only II follows

Arrange the schools of Hyderabad in
chronological order on the basis of their
establishment :

A. Madrasa Aliya

B. Saint Grammar School Ei3E
C. Madrasa Aiza E‘%
D. All Saints High School

Choose the correct order.:
() A,B,C,D 2).B,C,A,D
(3) B,D,A,C “4) B,C,D,A

Article 48 Aywhich states, “The State shall
endeavour“to protect and improve the
environment”, was added in 1976 to ;

(1) Fundamental Rights

(2) Directive Principles of State Policy
(3) Sustainable Development Goals
(4) Fundamental Duties
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93. Ina code language if CREATING is written
as FWLLGZGD then how RATIONED is

written ?
(1) UFASBEXA _E] E_l
(2,) UFATCEXA =]

(3) UFATAEXA
(4) UFATBEXA

94. Which was the main trading centre in

ancient Telangana ?
(1) Kondapur

(2) Kolanupaka
(3) Bhuvanagiri
(4) Karimnagar

95. A cube is painted on all faces using White
and Red colours such that opposite faces are
painted in different colours. This cube is now
cut into 27 smaller cubes of equal size. How
many small cubes are there with a single

colour painted ?
(1) 3
) 8
(3) 14
() 6

96. Where did the Fifth' BIMSTEC (Bay

of Bengal Injtiative for Multi-Sectoral
Technical and\Economic Cooperation)
Summit was*held ?

(1) Colombo, Sri Lanka E5E
(2) Kathmandu, Nepal SBET
(3) New Delhi, India

(4) Dhaka, Bangladesh
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97.

98.

99.

100.

101.

Who among the following was NOT a Chief
Minister of a State before becoming the

Prime Minister of India ?

(1) P.V. Narasimha Rao E5E

(2p Chandra Shekhar %

(3) H.D. Deve Gowda

(4) V.P. Singh

Which one of the pairs is matched
correctly ?

(1) Sedya Chandrika : Agricultural paper
(2) Satyaduta : Theosophical Society
(3) Andhramata : Brahma Samaj paper
(4) Risala Tabbi : Majlis Party paper

Which of the following is NOT the case of
ecological imbalance ?

(1) Afforestation

(2) Erosion of soil

(3) Industrial and atmospheric pollution
(4) Degradation of land

In which one of the following assembly
segments, the Government of Telangana
launched the Dalit Bandhu scheme in/August
20217

(1) Achampet
(3) Huzurabad

(2) Jukkal
(4) Alaig

Read the following statéments :

A. The first railway line in Nizam period
started between Seetnderabad and Wadi
in 1874 with the length of 121 miles.

The first railway line of Nizam period |.
connected Hyderabad with the Great
Indian Peninsular Railway (GIP) of
Bombay to Madras.

Choose the correct answer :

(1) Aonly

(2) BothA&B

(3) Neither Anor B
(4) Bonly

o0
=
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102.

103.

104.

105.

Rainbow is formed due to :
( f\ refraction, reflection and dispersion of

light through a water droplet

(2) reflection and dispersion of light
through a water droplet

(3) refraction, refiection and scattering ot
light through a water droplet

(4) refraction and dispersion of light
through a water droplet

Find out the correct number in place of ‘?’
in the following series.
9,45,105, 7,297, 429,

(1) 249
= %Eli.
=

(2) 180
(39 195
The Government of Telangana is providing

@) 189

marriage assistancerof ¥1,25,145 to
unmarried girls belonging to :

(1) Disabled girls irrespective of their
caste and religion

(2) BCs
(3) Minorities
(4&} SC/STs

Who was honoured with the ‘2020 Tyler
Prize for.Environmental Achievement’ ?

(1) Andy Haines

(2) Pavan Sukhdev ‘E']‘%E
(3) Satya S. Tripathi =
(4) Kailash Satyarthi

29
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9, 45, 105, 2, 297, 429,
(1) 249 I3
(2) 180 =
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106.

107.

108.

There is some relationship between the two
terms on the left side of the sign :: . The same
relationship exists between the two terms
on the right side of the sign ::. Find the right
answer from the following four alternatives.
GDLH: TWOS :: BORE: ?

(1) YLIV @) vziL [
(3) YVLI @ yLz @&
Match the following :
List—1I List — 11
A. Abhinav Bharat 1. Bhadrinath Kumar
Society Gosh
B. Anushilan Samithi 2. Lala Hardayal
C. Gadar Party 3. CR.Das
D. Swaraj Party 4. V.D. Savarkar

Choose the correct answer :
(1) A-4;B-1;C-3; D-2
(2) A-1;B-4;C-2;D-3
(3) A-4;B-1;C-2; D-3
(4) A-3;B-4;C-2; D-1

Which of the following badminton
tournaments were won by/PV. Sindhu
during 2022 ?

A. Syed Modi India International
Women’s Singles

Swiss Open Super 300 Women’s
Singles Badminton Tournament
Yonex-Sunrise India Open Women’s
Singles

German Open Badminton Women’s
Singles

B.
C.

D

Choose the correct answer :
(1) A& B only

(%) A& Conly

(3) A,B & Conly

(4) C & D only

040}
=
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(1) A-4;B-1;C-3;D-2 86
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(4) A-3; B-4; C-2; D-1
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109.

110.

111.

112.

Rekha started walking in the direction of East | 109.
and stopped after 35 m. Now she turned to
her right and walked another 20 m. Now how
much minimum distance she has to walk to
reach her starting point ? (in meters)
(1) 40.21 (2) 41.01
(3) 41.31 (4) 40.31
Who is the author of the novel ‘Chillara 110.
Devullu’?
(1) Vaddera Chandidas
(2) Vattikota Alwar Swamy  [El{3[E]
(3) Ampasayya Naveen
(4) Dasharathi Rangacharya
National Panchayati Raj Day is observed | 111.
on:
(1) 2204 February
(2) 2™ October
(3) 16% November
(4) 24™ April
Match the following Himalayan glaciers with |\, 112.
their locations :
Glacier Location
A. Siachen 1. Uttarakhand
B. Gangotri 2.-Sikkim
C. Kanchenjunga 3..Kashmir
D. Bara Shigri 47 Ladakh
5. Himachal
Pradesh
Select the correct answer :
(1) A-4;B-3;C-1;D-2
(P A-5;B-4;C-2; D-3 EsE
(3) A-2;B-1; C-4; D-3 B
(4) A-4;B-1; C-2; D-5
31
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(1) 40.21 (2) 41.01
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Q0]
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113.

114.

Match the following libraries with their

places of establishment :

Library Place

A. Andhra Bhasha 1. Karimnagar
Nilayam

B. Andhra Saraswati 2. Khammam
Grandhalayam

C. Rytu Grandhalayam 3. Nalgonda

D. Osmania Bhasha 4. Chilkuru,
Nilayam Nalgonda

District

Choose the correct answer :
(1) A-1;B-2; C-3; D-4
(2) A-3;B-4;C-1; D-2
(3/) A-4; B-1; C-2; D-3
(4) A-2; B-3; C-4; D-1

I_g%

The following are water borne human
diseases :

A. Typhoid

B. Cholera

C. Chickenpox

D. Conjunctivitis

Choose the correct answer:

(9 A, B &C only
(2) By€ & D only
(3) C& D only %
=

(4) A & B only

32
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116.

117.

118.

Which sector has been the highest contributor
to the Gross State Value Added (GSVA)
since the formation of Telangana State ?
(1) Services sector

(2) Agriculture & allied sectors

(3) Agriculture & Industries sectors

[=]¢50E

=

The voluntary organisation that was
established in 1906 by Bhagya Reddy
Varma for the upliftment of Dalits was :

combined

(4) Industries sector

(1) Humanitarian League

(2) Jagan Mitra Mandali

(3) Hyderabad State Reforms Association
(4) Social Service League

Shipki La, a high-altitude pass in the
Himalayas is located in the :

(D Chun.lbl Valley EEE

(2) Sutlej Valley 3 3

(3) Teesta Valley =

(4) Brahmaputra Valley

In May 2022, a rock art site said to'be from

the Mesolithic Age (Middle Stone Age) was

discovered from which of the following areas

in Telangana ?

(1) Indiresham village,Patancheru mandal,
Sangareddy district

(2) Naspur village, Luxetipet taluk,
Mancherial district

(3) Pandavula Gutta village, Regonda
mandal, Jayashankar Bhupalapally
district

(4) Kasipur hamlet, Bommalaramaram
mandal, Yadadri Bhuvanagiri district

33
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119.

120.

121.

122.

123.

Where is ‘Akkanna Sarai’ located ?

(1) Maisaram, Maheswaram, Rangareddy
district

(2) Bollarum, Secunderabad, Hyderabad
district

(3) Kyasaram, Patancheru, Sangareddy
district

(4) Rudraram, Patancheru. Sangareddy
district

P,Q, R, S and T sit around a table. P sits in the
second seat to the left of R and Q sits in the
second seat to the right of R. If S sits between
Qand R, who is sitting to the immediate right

of P?
1) T EEEE'I @ Q
3 R = @) S

In which country, the government declared a
90-day environmental emergency in the first
quarter of 2022 after oil spill ?

(1) Bolivia (%) Ecuador
(3) Peru (4) Chile

According to the BalwantyRai Mehta

Committee, the District Collector should be :

(1) The Chairman of Zilla Parishad

(2), The non-voting member of Zilla
Parishad

(3) The voting'member of Zilla Parishad

(4) Kept out ofZilla Parishad

What is'missing term in the following series ?

2,14, 18,2, 82,174,
!;%gg?
=

(1) 36
(3) 52

2 62
(4) 46
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124.

125.

126.

127.

Uttar Pradesh Legislative Assembly has the
highest number of MLA seats with 403. in
India. In this context, arrange the following

states based on their number of MLA seats
B. West Bengal
Choose the correct order :

in the descending order

A. Tamil Nadu E“ E';l

C. Bihar E%E

D. Maharashtra

(1) D,B,C, A 2) D,B,A,C
(3) B’ Da Cs A (4) B’ C, D, A

Which of the following was NOT a Jaina
religious centre in Telangana ?

(1) Bodhan (2) Kodangal

9,) Vemulawada (4) Patancheru

Which place is called as the Silk City of
Telangana ?
(1) Sircilla
(3) Narayanpet

(2) Pochampalli
@) Gadwal

Which of the following are correct regarding

‘Flow Chemistry Tech Hub’ ? .

A. The hub was opened in Hyderabad in
May 2022.

B. It is initiated by the Go_vemment of
Telangana in collaboration with the
Indian Institute of Chemical Technology
(IICT). ‘

C. The hub is equipped w1th.the state-of-
the-art flow chemistry equipment. N

D. The hub will provide hands-on-training
and promote scientific capability
building.

Choose the correct answer -
(1) A&B only

@A,C&Donly EEE
(3) A,B,C&D @"%55

4 C&D only
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128.

129.

130.

As per the ‘Samagra Kutumba Survey — 2014’
which of the following undivided districts of
Telangana had the least population ?

(1) Khammam

(2) Nizamabad

Q) Adilabad

(4) Medak

Arrange the following in the chronological

order :
A. Nehru Committee

B. Civil Disobedience Movement

C. Individual Satyagraha =5
D. The Cripps Mission Eg :
Choose the correct order :
() A,B,C,D (2) B,A,D,C
(3) C,A,D,B 4 D,B,A,C
Match the following :
Atomic Power Station  Location
A. Kalpakkam 1. Tamil Nadu
B. Narora 2. Uttar Pradesh
C. Kakrapara 3. Gujarat
D. Kota 4. Karnataka
5. Rajasthan -

Choose the'correct answer :
(1) A=l; B-2; C-3; D-5
2y A-2;B-1;C-3;D-5
(3) A-2;B-1;C-4;D-3
4) A-1;B-2; C-4;D-5

E%E
=

36

22160

128. o Srenom $5-2014° 500 Boorresd™d

208 edzrey B’ D8 B Ty SON
&od ?

(1) 590
Q) dersrerd EEE -
(3) esbremorF

(4) ok

. 200 763D SPOESTRIPE0 @080t |

A. ST 5063
B. 35300508 étigoo
C. &/)zgéﬁéﬁ ?6@"5@%”0

D. & &5
B I JoseSods :
@)A,B,C,D (2) B,A,D,C
(3) C,A,D,B (4 D,B,A,C
130. 208 7263 2BDSB0G ¢
e 3)&53552\3&5 P
A. Soyso 1. ST
B. &0 2. &0
C. ¥gso 3. Kmoed
D. S 4. e
5. owre
B BEF T 20S ol

() A-1;B-2;C-3; D-5
(2) A-2;B-1;C-3;D-5
(3) A-2; B-1;C-4;D-3
(4) A-1,B-2; C-4;D-5
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131.

132.

133.

134.

Complete the given sentence using the
grammatically correct option.

We will hire private buses to avoid
inconvenience when our buses

%

Which of the following words are misspelt ?
A. ‘
B.
C.
D. occurred
(1) AandC

(3) Aand D

(1) is under repair
(2) were under repair
@ are under repair
(4) under repair

fluorescent
honourary
idiosyncracy

(2) AandB

Band C

Which one of the following sentences is

grammatically correct and meaningful ?

(1) Ifyou are knowing the address, you can
reach the destination easily.

@ When we were crossing the road
along with our friends, we met with an
accident.

(3) The passengers had occupied their seats
before they entered the compartment.

(4) Unless you are having any problems you
should not depend on others.

Which of the following two clauses are
grammatically correct and‘make the sentence
meaningful ?

Noble ideals are.required

A. to bringing reforms in society
B. fof'bringing reforms in society
C. to bring reforms in society =3
D. for bring reforms in society é%%
(1) Aand B (2) Aand D

@) BandC (4) Band D

135.

136.

137.

138.

37
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Arrange the following sentences in logical
order.

A. Iwas, therefore, about the last of the first
crowd to get a ticket.

I went to the station master who gave the
same reply.

At Burdwan we were told, “third class
tickets are not booked so early.”

As soon as the booking window opened,
might was right and passengers, ahead of
others and indifferent to others, coming
one after another, continued to push me
out.

(1) D,C,A,B
3) C,D,B,A

B.

(2) B,C,A,D

#C;B,D,A

Which one of the following words is
misspelt ?
(1). unforeseen

@ easthetic

Completesthe given sentence using the
grammatically correct option.

(2) privilege
(4) venerable

The police caught him in a house in the city
while he

(1) is trying to escape
was trying to escape

(3) tries to escape

(4) trying to escape

Which of the following two sentences are
grammatically correct ?

A. 1am not believing his words as they are
not from a reliable source.

He is not having any financial problems
as he is born with a silver spoon in his
mouth.

We don’t understand what they mean by
their words.

They spent a lot of money for the function
that was arranged at Taj Banjara Hotel

yesterday.
EEE (P AandB
Ex% (@) CandD

B.

C.
D.
(1) Aand C
(3) Band C

P.T.O.
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139.

140.

141.

142.

Which one of the following is the misspelt
word ?

(1) conscience

(2) embarrass o0

@ liason =

(4) maintenance

Arrange the following sentences in logical

order.

A. 1he most widely accepted theory is that
about 5000 million years ago swirling
clouds of matter began to condense.

B. Such is the theory and nine satellites
began orbiting around the sun which are
called planets.

Cy Through the action of centrifugal force,
the heavier molecules were concentrated
near the centres of the eddies, and the
lighter, gaseous material was thrown out
towards the periphery.

D. There is no general agreement about how
the planets were formed.

(1) C,D,A,B (@ C,B,D,A
@) D,A,C,B 4) B,D,A,C

Which one of the following sentences has
the correct punctuation marks ?

@ Ashok said, “Ranjith, do you have any
problems with your tenants ?”

(2) Ashok said, Ranjith, “Do you have any
problems with your tenants ?”

(3) “Ashok said, Ranjith” Do youhave any
problems with your tenants ?

(4) Ashok ? Said Ranjith, “Do‘you have any
problems with your tenants” ?

Complete the given sentence using the
grammatically correct option.

When we were on the way to college,
suddenly'the sky
(J) turns dark
(2) had turned dark E{E
(3) had been turning dark &%
(@) turned dark

38

143.

144.

22160

Consider the following.

One-word
substitutes

A. nostalgia 1.

Meanings

one who is outspoken

B. acumen 2. an ability to appreciate
C. flamboyant 3. an ability to make
good judgments

D. extrovert 4.

5. asentimental longing

one who is showy

Which of the above one-word substitutes are
correctly matched with their meanings ?

(1) A-4,B-3,C-2, D-1
(2) A-2, B-3, C-1,D-4 %
(3) A-5,B-2,G:3,04 =

A-5,B-3, C-4, D-1

Consider the following.

A We saw Warangal, in Telangana;
Vijayawada, in Andhra Pradesh; and
Chennai, in Tamil Nadu.

B. Nithin and Kiran decided to join NIT
Warangal; they enquired about the
hostel facility from their friends.

C. Nithin and Kiran decided to join NIT
Warangal: they enquired about the
hostel facility from their friends.

D. We saw Warangal, in Telangana:
Vijayawada, in Andhra Pradesh: and
Chennai, in Tamil Nadu.

Which of the above statements have the right
punctuation marks ?

(1) AandC
@) AandB  EEE
(3) Cand D Eﬁ%
(4) BandC
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145. Consider the following :

Phrases/idioms Meanings
A. aware of 1. have strong
desire
B. deprive of 2. serve as
an explanation
C. account for 3. having
EiE knowledge of
D. crave for 4. take away from
&= .
5. bring to

Which of the above phrases are correctly

matched with their meanings ?
(1) A-3,B-2,C-4,D-5
@) A-3,B-4,C-2,D-1
(39 A-3,B-2,C-4,D-1
(4) A-3,B-1,C-2,D-5

146. Which two of the following words are
misspelt ?
A. commission
B. accomodate

C. ingisitive

D. anxiety

OfHO)
() Band C Ff= (2)*BandD
(3) AandD = (4)*Aand B

147. Which one of the'following is the misspelt

word ?
@ asas§ination (2) colleague
(3) definitely (4) argument

22169

148. Several men dropped out of fatigue
during the long march.
Which of the following refers to ‘fatigue’ ?
(1) anxiety

@ tiredness [ﬂ%
(3) anger =

(4) frustration

149. Complete the given sentence using the
grammatically correct option.

All the students had arrived before the

(1) bell rings
(2) bell had rung
(3) “bell isringing

@ bell'rang

150:, Consider the following.
A. “I am not an announcer here.” Said he.
B. He said, “I am not an announcer.”

C. “How old and strong this building is!”
said he.

D. “How old and strong this building is” ?

Which of the above statements have the
correct punctuation marks ?

@ Aand C
(2) BandD JE)%I?
(3) AandD =

(4) BandC

39
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